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)l ler R be o selation cdefimed In A= $4.9,.3,5,4.9% as

C4,5),.04,8), €4,39, C9,9), (5,41, C3.3).€5,5), C5.4),

e V(5 55) 07 1), C9,3) . C1,5). C3.1), (9,923, Find the

Ppaz Htions of A hased sam the eaulualance welaHon R.
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(T TE tae Vestices tn a_guaph ase connected by an eclge, e sey —

the Vestices oxe adiecent ' !
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twhene 'Zq Sovd 0 B A 8.6, F,8 3 undex _the ofesations {ﬁf
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llset+ of even Imregess and Z 15 The Set of aiy
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Ccosets af H inZ




Adiacency matzix'=let G be O gzaph coith o _pazallel

' . ]
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opesation * cefined by or ¥y -or+y-9 om the e+ Zo0P

Tﬂ-i-papﬂ.%.
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Find +he domain of +he functiom £y - \’iﬁ-mn.
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